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(D) £{y' ()} = sY(5) - ¥(0)

) £4y"(O)} = 5°Y (5) — sy(0) - ¥ (0)

3) £{y" (1)} = 5’V (5) - 5> W(0) ~ 5/ (0) - y"(0)
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£{f)= [ e f(x)de = F(s)
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(D £/ ()} = sY(5)- ¥(0)
(2) £0(x)} = Y (5) - s9(0) - ¥'(0)
3) £ ()} = Y (5) - 5° ¥(0) — 5/ (0) - ¥'(0)
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{y(o) =4
Y (0)=8
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BB BB Yy =€ (cos3x+25in3x)
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[ %72 B ] Two students solve the same initial value problem
v'+ay' +by =0 with given initial conditions

y(0) = 4 and y'(0) = B. Using wrong constants for b and B, one
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student got the solution y,(x) = e*{cos3x +2sin3x). Using

wrong constants for @ and 4, the other one got the solution

y,(%)=-3e" +2¢’*. Find the correct constants for a,b, 4 and B

and solve the initial value problem. [90 & AT 4]
(gna# 1] y+ay'+by=0 BC.y0)=4,y(0)=38

He Laplace transform
% { $Y(5)-s9(0) = y'(0) }+a{ sY(5)-3(0) }+b¥(5)=0

% | S’¥(s)-s4-B }+al s¥(s)~4 |+b¥(s)=0

As+(ad+B)

= [f®= S +as+b

(&80 2] (1) £{e™) =——
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(2) £{cosax} = .

£{sinaw} =
s'+w

s+a

(3) £ {e"‘”‘ COSC!)JC} = m

142
(s+a)+a°
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£{e™“ sinwx} =

Ve = ¢ *(cos3x+2sin3x)

(s+2)+6  s+8  Ays+(aydy +B)
(s+2)°+9 s'+4s+13 S*+ays+b
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Solve the following initial value problems:
(1) y'—4y+4y=0, y(0)=0, y'(0)=-3 [95 AAEHK -~ TH&E - HTF]
(2 Y'-4y'+4y=0, y(0)=3, y(0)=1

[94 RAAM B RAER-FABRF R #ExLKR]
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[3##] (1) 5 Laplace #i#§ Y(s)=— T dsid (s-2)
m{)y=£w§{Y(S)} £—1{( )2}_ezx£-1{ 2}.,.._.

3s-11 _ 3(s-2)-5 3 >

(2) Y(s)=

S —ds+4  (s=2° s5-2 (5-2)




